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i..........: Note:':,.Thip qUestion paper contains two parts A,and B. .-- j. , - , , ., '. ; .

i '. i..Pu.t A is compulsory.whichicairiei.25 maiks.'' Answer all..questions in Part: A.

B.Tech I Year II Semester Examinations, May - 2019
MATHEMATICS-II

(Common to CE, EEE, ME, ECE, CSE, EIE,IT, MCT, MMT, AE, MIE, PTM)
Time:3 hours Max. Marks:75

Part B consists of 5 Units. Answer any one full question from each unit. Each question
carries 10 marks and may have a, b, c as sub questions.
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d) If i = xi + yT + zi then evaluate V?(rz). , ,

e) Find the value of f (f + ,,* + i')aV .

i) Find tlre integratirrg lactor ol ff + Z*y = e-*'
g) Solve (D3 - 4Dry - 5.

h) F'ind the lirrits alter changing the order of integration lor

tt: li

i) Find a unit vector norrrtal to the surlace x3 + y3 + 3xyz = 3.

i) If F(r) = xi + zyT + ri |r"n evalLrate f n,rt FG) ctt.

PAt.a.'f-8

- .)^, , : : a t.

'Solve (1 * x21!L a ZxY - 4x2 , Y(O) ='0.
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(50 Marks)

If 30% o1'-a radio:Lctive substance clisappears in i0 cla1s, horv ion-e rvill it take for 90% of
it to disappear? [5+5 j

OR
i.a) Soive (y + y2'icix + x,v ti1' = g.

ir) Sotve (x +'2y3) f = .,'

-l.r) Solve (Dr + 4)y = tatt 2-r by terirttir-rtt ol prtratttel.e rs.

tr) Solre (Dr + aD)y = 5 + sitt 2x.
oIl

5.a) Solve(D2 +4D+3)y= e"'.
b) Solve (Dz + l)Y = xz sinZx.
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angle the the xy z2 at
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(4, 1,2) and

t5+Sl
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tl0l
:": 0,,y =:0,,

Prove that v.(7' x F; = F. (v x 4 - n.(v x F)
oR

9.a) Find the angle of intersection of th9 splteres xz + yz * zz = 3! and xz + yz + zz +"--':l,auJ6r-ir1sp..lOutthepoi4t(4?13,2).,:I 
, i..: : i.i r

b) i"e t"rto, g.16',.;rigiven by Ai= {;2"+xy\i+ A? l.xzy)j. isho* fhat the field'is ,'

irrotational and find the scalar potential. [5+5]

10. Find the work done in moving a particle in the force field F =
along the straight line frorn (0, 0, 0) to (2, l, 3)'

OR

I l.a) Evaluate f [. F.nas il F = ZxyT * yz2l + xzk ore, rhe parallelepiped x
:l

3xzi+ (Zxz-l)i+zi

z:0.x:2.y: l.z=3.
b) If F = (3x2 -Zz)l- 4xyl- 5xk, EvalLrate f, curL Fdu, rvhere v is volurre hoLrnded

by'planes x:0, )' :0. z:0 and 3x + 2y -32:6. [5+5]
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